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1. Solve the following systems of equations using matrices:
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Multiplying Matrices.
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Homework 02-26

0 {—ao -4 |
R | !
oz o § 5]

@ [Yw? wa—‘{u\r/“‘f)f] |
LYyw  ~d0vw  -1Adww?] |

f : P
o
<o
— F o
v R - ]
« 1.4 oty
S A‘—-—-J—"'\ ) e S S !
> ‘ ‘. b ‘U. y == ‘
oy
. < )
Y N 8
*{*’ .
L——-———) §
W

i i‘Swu Y VRl }
iz L IEby | _
L Lv-? - 5u t3vu

ok TR e o
O [ ) —le)jz—\i] @ %il*r [ aab]:{
L yp-x i Jxﬂlj’l L bb Aa+3{

50 JAL_LIY

@ [-Il 33 —‘1] (1)

“Yh+bo |
JbtAah!
bt dad g




oo iy
=3 -
&
t
e e vl
2 o e S
- (S 3 13 -




